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‘0f A" attaches to nouns that indicate a location to mark
the place at which the action takes place. Compared to
‘0], which is used with verbs that indicate movement
such as 7t} ‘2L and ‘CHCE ‘0| A’is used to indicate

an activity in a location within a limited boundary.
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AN R/-AR/-H0{ R’ attaches to verbs and adjectives
to indicate an action or state in the past tense. “0{ 2’
is used when ‘I, " comes before ‘Ct, as in ‘ZtCF or
‘QLF -FHO{R’ is used with verbs ending in StCt, as in
‘He}sICt and ‘BESICH and can be contracted to “ZH0f
2. Depending on the intonation, “4HR2/-AH /-0
2’ can be used as declarative or interrogative. The past
tense of ‘0|0R/0IK" is OIRAAK/A01R. “UHKL /-0

2/-F{R is used in casual contexts.
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“2 7Ho|g/-2 MoK attaches to verbs and indicates
future events or plans. -2 7{0{| 2 attaches to consonant-
final verbs, and ~2 #0|R’ attaches to =-final and

vowel-final verbs.
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When the final vowel of the verb stemis “} or ‘r,” -0}
2 ‘is attached, while’ -0{2 ‘s attached to all other final
vowels. In the case of ‘SICF verbs, “04R is attached.
When -0t2/-0{2/-{2" is used to make suggestions, the
final syllable is pronounced slightly longer, as in the

case of ‘40| 7t&
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“OAl|-/-Al-" is an honorific form that attaches to verb
stems and is used to elevate the subject of the sentence
and show respect. In the case of consonant-final verbs
and adjectives, -2 A|-"is attached, while “-A|-is attached
to 2-final and vowel-final verbs and adjectives. To show
respect to the subject, the subject marker ‘0l/7}" should
be replaced with THA{.’
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-o2{ Jttt/-2{ 7ICF is used to indicate the purpose of
movement. ‘-224 7}C} attaches to consonant-final verbs,
while “21 ZIC} is used for 2-final verbs and vowel-final

verbs.
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“-11 AICF attaches to verbs and adjectives and expresses
the speaker’s desire or wish. -1 4/0{ SICt is used when

the subject is not in the first person.
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-27tR7?/-27tK7 attaches to verb stems and is used
to ask the listener’s opinion. If the subject is the first
person plural (we), it means to ask the listener’s opinion
as in ‘Shall we...?” If the subject is first person singular
(1), then it means to ask the listener’s opinion about the

speaker’s proposed action, as in ‘Shall I....?’

R
K
o
:
Hr

= WOl 2702

=il

SO E SAL ZEA 201 Y0 = E Fof| ”= ES
LSO LI E S LIEHHCE 22| 720 J23l0] -1I'S
ALERITE 8 A9 HR0M= -RU-/-A- R E2 AIM &
oS e 2RO AFEE = UL DU 2 70 2= 2
YOIA AHIE 2= Z10] LEFHO|CE SHE| =7 2Rk
o AFEE 4= Ut

-1’ attaches to verbs and adjectives to indicate the

connection of two or more clauses. -1’ is used with all

- verbs and can be used with tense markers such as -2t

A~ to indicate the past tense, but tense markers are
usually used in the final clause. The particle ‘=’ can also

be used in the final clause.
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“2 Holle/-2 MoK’ attaches to verbs and adjectives
and is used to indicate conjecture based on the speaker’s
past experience and knowledge. -2 702" is used for

consonant-final verbs and adjectives, while -2 Hol|&’

HI
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attaches to 2-final and vowel-final verbs and adjectives.
To express conjecture about past completed actions,
“AS HUR/-AE HHRQ/-FE AR s used.
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‘SHE|” attaches to person or animal nouns to indicate
that the preceding noun is the recipient of the subject’s
action. ‘StEf|(A])” also attaches to person or animal nouns
to indicate the source or starting point of an action. If

the source of ‘Stef’, ‘SHE{|M’ is an elder or senior, ‘M’ is

used instead.
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““X|2F attache stoverbs and adjectives to indicate that
the preceding and following clauses are in contrast.
The form X2 is used for all verb and adjective stems.
““X|2F can also be used with tense markers to indicate

contrasts in the past tense.
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-OFA /-0 A/-04 A" attaches to verb stems to indicate that
the preceding clause provides the cause or reason of
the following clause. “-OFA’ attaches to the vowels ‘
‘1L’, while -0{ A’ attaches to all other vowels. As for verb
sending in ‘SICt, “04A| is attached to form “~StO{Af’,
which can be contracted to ‘SHAl.” ~ObA/-0{ A /-0 A" is
not used with tense markers, and neither imperative nor

suggestive clauses can follow it.
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‘2’ is used as a negative expression to indicate that the
subject is unable to perform the action of the verb, or
that there are external reasons for such inability. ‘&2’ is
placed in between the noun and ‘SICY in the case of

‘noun+stCt verbs.
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‘OF is formed by pronouncing [0[0}] quickly without
a pause. ‘0, 2, 7, OH, o' are pronounced similarly by
pronouncing [0l] quickly and softly before [01], [2], [?],
[off], [of]] without a pause.
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‘2’ between vowels is pronounced by having @ lightly

hit @ while letting the air out slowly. ‘2" as a final

consonant is formed by closing @ and @ as you let the

air out slowly. This chapter covers the ‘2’ that continues

as a final consonant to an initial sound.
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[01] is pronounced by slightly opening your lips while
relaxing your lips and tongue. [2] is pronounced by

rounding your lips while slightly lifting your tongue.

The intonation of the interrogative sentence without wh-
question is raised in the end. However, the intonation
of the interrogative sentence with wh-question drops in

the end.

‘C, A, X, x, E” as a final consonant is pronounced

as [=]. The final consonant sound [£] is voiced while

- closing @ and @ without letting the air out.
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‘0’ as a final consonant is pronounced by closing @
and @ while letting the air out through the nose. ‘L.’
as a final consonant is pronounced by closing @ and
@ while releasing the air through the nose and blocking
the air from the mouth. ‘0’ as a final consonant is
pronounced by closing @ and @ while releasing the air

through the nose and block the air from the mouth.
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[&] is pronounced as you release airflow while closing
and opening your lips. [#] is pronounced after closing
your lips, pull your chin inward, block the airflow by
tensing your throat. [ ]sound is formed by releasing the
built up pressure when lips are closed as your open your

lips to exhale with an explosive breath.
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flower shop
amusement park
library

beauty salon
museum
swimming pool
post office

(sports) field

to go to an art museum/gallery
to skate

to go sightseeing around the city
to see a baseball game

to learn to cook

to ride a bicycle

to go to a concert

OIA[(PC)HOI 7Tt to go to PCEY

ZLCH OB

22

to be, stay

to give

tell, say

to tell, say

to see
(alcohol) drink
to ask
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close
same
clean
different
dirty

hot

far
bright
dark

cold

to blossom, bloom

to have a staring match
snow piles up

to take a walk, stroll

to eat & 7AIE

to have a sports day
rainy season sets in

the sky is blue

to carry a bag

to wear earrings
to wear a tie

to wear a mask

to wear a necklace

to wear a scarf
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AT E Ot to wear a scarf

oS ALt to wear boots
143} VAE
25Tt to be absent

=0t HO[d7ICt  to have an emergency

71201 Tt lethargic
oF£0[ QU to have a plan,
to have an appointment
Al sttt to be late
S0t to go to work
EIZ5HTt to leave work
O| st tired
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